# CITY OF NAPLES, FLORIDA AGREEMENT (CONSTRUCTION)

Bid/Proposal No. 16-012

Clerk Tracking No. 16-00014

Project Name: Central Avenue Improvements - Construction

THIS AGREEMENT (the "Agreement") is made and entered into this <a href="17th day of February">17th day of February</a>
2016, by and between the City of Naples, a Florida municipal corporation, (the "CITY") and Quality Enterprises USA, Incorporated, a Foreign Profit Corporation, located at: 3894 Mannix Drive, Suite 216; Naples, Florida 34114-5406 (the "CONTRACTOR").

WHEREAS, the CITY desires to obtain the services of the CONTRACTOR concerning certain services specified in this Agreement (referred to as the "Project"); and

WHEREAS, the CONTRACTOR has submitted an (ITB) Invitation to Bid No. 16-012 for provision of those services; and

WHEREAS, the CONTRACTOR represents that it has expertise in the type of services that will be required for the Project.

NOW, THEREFORE, in consideration of the mutual covenants and provisions contained herein, the parties hereto agree as follows:

# ARTICLE ONE CONTRACTOR'S RESPONSIBILITY

- 1.1. The Services to be performed by the CONTRACTOR are generally described as **Central Avenue Improvements Construction** and may be more fully described in the Scope of Services, attached as **EXHIBIT A** and made a part of this Agreement.
- 1.2. The CONTRACTOR agrees to obtain and maintain throughout the period of this Agreement all such licenses as are required to do business in the State of Florida, the City of Naples, and in Collier County, Florida, including, but not limited to, all licenses required by the respective state boards and other governmental agencies responsible for regulating and licensing the services to be provided and performed by the CONTRACTOR pursuant to this Agreement.
- 1.3. The CONTRACTOR agrees that, when the services to be provided hereunder relate to a professional service which, under Florida Statutes, requires a license, certificate of authorization or other form of legal entitlement to practice such services, it shall employ or retain only qualified personnel to provide such services.
- 1.4. The CONTRACTOR agrees to employ and designate, in writing, within 5 calendar days after receiving its Notice to Proceed, or other directive from the CITY, a qualified employee to serve as the CONTRACTOR's project manager (the "Project Manager"). The Project Manager shall be authorized and responsible to act on behalf of the CONTRACTOR with respect to directing, coordinating and

1

administering all aspects of the services to be provided and performed under this Agreement.

- 1.5. The CONTRACTOR has represented to the CITY that it has expertise in the type of services that will be required for the Project. The CONTRACTOR agrees that all services to be provided by CONTRACTOR pursuant to this Agreement shall be subject to the CITY's review and approval and shall be in accordance with the generally accepted standards of practice in the State of Florida, as may be applied to the type of services to be rendered, as well as in accordance with all published laws, statutes, ordinances, codes, rules, regulations and requirements of any governmental agencies which regulate or have jurisdiction over the Project or the services to be provided and performed by the CONTRACTOR. In the event of any conflicts in these requirements, the CONTRACTOR shall notify the CITY of such conflict and utilize its best professional judgment to advise CITY regarding resolution of the conflict.
- 1.6. The CONTRACTOR agrees not to divulge, furnish or make available to any third person, firm or organization, without CITY's prior written consent, or unless incident to the proper performance of the CONTRACTOR's obligations hereunder, or in the course of judicial or legislative proceedings where such information has been properly subpoenaed, any non-public information concerning the services to be rendered by the CONTRACTOR hereunder, and the CONTRACTOR shall require all of its employees, agents, sub-consultants and subcontractors to comply with the provisions of this paragraph. However, the CONTRACTOR shall comply with the Florida Public Records laws.
- 1.7 The CONTRACTOR agrees not to employ or offer to employ any Elected Officer or City Managerial Employee of the CITY who in any way deals with, coordinates on, or assists with, the services provided in this Agreement, for a period of 2 years after termination of all provisions of this Agreement. For purposes of this paragraph, the term "Elected Officer" shall mean any member of the City Council. For purposes of this paragraph, the term "City Managerial Employee" shall mean the City Manager, the Assistant City Manager, the City Clerk, and any City department head or director. If the CONTRACTOR violates the provisions of this paragraph, the CONTRACTOR shall be required to pay damages to the CITY in an amount equal to any and all compensation which is received by the former Elected Officer or City Managerial Employee of the CITY from or on behalf of the contracting person or entity, or an amount equal to the former Elected Officer's or City Managerial Employee's last 2 years of gross compensation from the CITY, whichever is greater.
- 1.8 The CONTRACTOR agrees not to provide services for compensation to any other party other than the CITY on the same subject matter, same project, or scope of services as set forth in this Agreement without approval from the City Council of the CITY.
- 1.9. Except as otherwise provided in this Agreement, the CONTRACTOR agrees not to disclose or use any information not available to members of the general public and gained by reason of the CONTRACTOR's contractual relationship with the CITY for the special gain or benefit of the CONTRACTOR or for the special gain or benefit of any other person or entity.

### ARTICLE TWO CITY'S RESPONSIBILITIES

2.1. The CITY shall designate in writing a project coordinator to act as the CITY's representative with respect to the services to be rendered under this Agreement (the "Project Coordinator"). The Project Coordinator shall have authority to transmit instructions, receive information, interpret and define the CITY's policies and decisions with respect to the CONTRACTOR's services for the Project. However, the Project Coordinator is not authorized to issue any verbal or written orders or instructions to the CONTRACTOR that would have the effect, or be interpreted to have the effect, of modifying or

changing in any way whatever:

- (a) The scope of services to be provided and performed by the CONTRACTOR;
- (b) The time the CONTRACTOR is obligated to commence and complete all such services; or
- (c) The amount of compensation the CITY is obligated or committed to pay the CONTRACTOR.

Any such modifications or changes ((a) (b) or (c)) shall only be made by or upon the authorization of the CITY's city manager as authorized by city council in the enabling legislation or in the CITY's procurement policies.

- 2.2. The Project Coordinator shall:
  - (a) Review and make appropriate recommendations on all requests submitted by the CONTRACTOR for payment for services and work provided and performed in accordance with this Agreement;
  - (b) Arrange for access to and make all provisions for the CONTRACTOR to enter the Project site to perform the services to be provided by the CONTRACTOR under this Agreement; and
  - (c) Provide notice to the CONTRACTOR of any deficiencies or defects discovered by the CITY with respect to the services to be rendered by the CONTRACTOR hereunder.
- 2.3. The CONTRACTOR acknowledges that access to the Project Site, to be arranged by the CITY for the CONTRACTOR, may be provided during times that are not the normal business hours of the CONTRACTOR.

## ARTICLE THREE

- 3.1. Services to be rendered by the CONTRACTOR shall be commenced subsequent to the execution of this Agreement upon written Notice to Proceed from the CITY for all or any designated portion of the Project and shall be performed and be in effect until completion of the project. All work from 8<sup>th</sup> St. to and the intersection of Goodlette Frank Road included in the contract documents will be substantially completed within one hundred and eighty (180) days and final completion in two hundred and ten (210) days. Improvements to Riverside Circle must be substantially completed within two hundred and forty (240) days and final completion within two hundred and seventy days (270). Project Close Out shall be performed within 90 days of Final Completion. Time is of the essence with respect to the performance of this Agreement.
- 3.2. Should the CONTRACTOR be obstructed or delayed in the prosecution or completion of its services as a result of unforeseeable causes beyond the control of the CONTRACTOR, and not due to its own fault or neglect, including but not restricted to acts of God or of public enemy, acts of government or of the CITY, fires, floods, epidemics, quarantine regulations, strikes or lock-outs, then the CONTRACTOR shall notify the CITY in writing within 5 working days after commencement of such delay, stating the cause or causes thereof, or be deemed to have waived any right which the CONTRACTOR may have had to request a time extension.

- 3.3. No interruption, interference, inefficiency, suspension or delay in the commencement or progress of the CONTRACTOR's services from any cause whatsoever, including those for which the CITY may be responsible in whole or in part, shall relieve the CONTRACTOR of its duty to perform or give rise to any right to damages or additional compensation from the CITY. The CONTRACTOR's sole remedy against the CITY will be the right to seek an extension of time to its schedule. This paragraph shall expressly apply to claims for early completion, as well as claims based on late completion.
- 3.4. Should the CONTRACTOR fail to commence, provide, perform or complete any of the services to be provided hereunder in a timely and reasonable manner, in addition to any other rights or remedies available to the CITY hereunder, the CITY at its sole discretion and option may withhold any and all payments due and owing to the CONTRACTOR until such time as the CONTRACTOR resumes performance of its obligations hereunder in such a manner so as to reasonably establish to the CITY's satisfaction that the CONTRACTOR's performance is or will shortly be back on schedule.
- 3.5 Liquidated Damages: Services to be rendered by the CONTRACTOR shall be commenced subsequent to the execution of this Agreement upon written Notice-to-Proceed from the CITY for all or any designated portion of the Project must be completed by the contract dates specified within the Notice-to-Proceed for construction. Should CONTRACTOR fail to complete the project within this timeframe, daily liquidated damages in an amount consistent with the current Sec. 8-10.2 (FDOT) Florida Department of Transportation Standard Specifications will be assessed.

| 3.6   | Bond. A Payment & Performance Bond with a surety insurer authorized to do business in this            |
|-------|---|
| state | as surety (check one)   |
|       | has been recorded in the public records of the County, or   |
| XXX   | prior to commencement of work, will be recorded in the public records of the County, or is waived or, |
| _     | _ is not applicable to this Agreement.  |
|       |   |

### ARTICLE FOUR COMPENSATION

4.1. The total compensation to be paid the CONTRACTOR by the CITY for all Services is not to exceed the 02-17-2016 revised Bid Tab total \$4,357,262.47 and shall be paid in the manner set forth in the "Basis of Compensation", which is attached as **EXHIBIT B** and made a part of this Agreement.

# ARTICLE FIVE MAINTENANCE OF RECORDS

- 5.1. The CONTRACTOR will keep adequate records and supporting documentation which concern or reflect its services hereunder. The records and documentation will be retained by the CONTRACTOR for a minimum of five 5 years from the date of termination of this Agreement or the date the Project is completed, whichever is later. The CITY, or any duly authorized agents or representatives of the CITY, shall have the right to audit, inspect and copy all such records and documentation as often as they deem necessary during the period of this Agreement and during the 5 year period noted above; provided, however, such activity shall be conducted only during normal business hours. If the CONTRACTOR desires to destroy records prior to the minimum period, it shall first obtain permission from the CITY in accordance with the Florida Public Records laws.
- 5.2 The CONTRACTOR shall:

- (a) Keep and maintain public records that ordinarily and necessarily would be required by the CITY in order to perform the service.
- (b) Provide the public with access to public records on the same terms and conditions that the CITY would provide the records and at a cost that does not exceed the established cost of the CITY or as otherwise provided by law.
- (c) Ensure that public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law.
- (d) Meet all requirements for retaining public records and transfer, at no cost, to the public agency all public records in possession of the contractor upon termination of the contract and destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. All records stored electronically must be provided to the CITY in a format that is compatible with the information technology systems of the CITY.
- (e) Promptly notify the CITY of any public records request.

### ARTICLE SIX INDEMNIFICATION

6.1. The CONTRACTOR agrees to indemnify and hold harmless the CITY from liabilities, damages, losses and costs, including, but not limited to, reasonable attorneys' fees, to the extent caused by the negligence, recklessness, or intentional wrongful misconduct of the CONTRACTOR and persons employer or utilized by the CONTRACTOR in the performance of the Contract.

### ARTICLE SEVEN INSURANCE

7.1. The CONTRACTOR shall obtain and carry, at all times during its performance under this Agreement, insurance of the types and in the amounts set forth in the document titled General Insurance Requirements, which is attached as **EXHIBIT C** and made a part of this Agreement.

### ARTICLE EIGHT SERVICES BY CONTRACTOR'S OWN STAFF

8.1. The services to be performed hereunder shall be performed by the CONTRACTOR's own staff, unless otherwise authorized in writing by the CITY. The employment of, contract with, or use of the services of any other person or firm by the CONTRACTOR, as independent contractor or otherwise, shall be subject to the prior written approval of the CITY. No provision of this Agreement shall, however, be construed as constituting an agreement between the CITY and any such other person or firm. Nor shall anything contained in this Agreement be deemed to give any such party or any third party any claim or right of action against the CITY beyond such as may otherwise exist without regard to this Agreement.

### ARTICLE NINE WAIVER OF CLAIMS

9.1. The CONTRACTOR's acceptance of final payment shall constitute a full waiver of any and all claims, except for insurance company subrogation claims, by it against the CITY arising out of this Agreement or otherwise related to the Project, except those previously made in writing and identified

by the CONTRACTOR as unsettled at the time of the final payment. Neither the acceptance of the CONTRACTOR's services nor payment by the CITY shall be deemed to be a waiver of any of the CITY's rights against the CONTRACTOR.

### ARTICLE TEN TERMINATION OR SUSPENSION

- 10.1. The CONTRACTOR shall be considered in material default of this Agreement and such default will be considered cause for the CITY to terminate this Agreement, in whole or in part, as further set forth in this section, for any of the following reasons: (a) failure to begin work under the Agreement within the times specified under the Notice(s) to Proceed, or (b) failure to properly and timely perform the services to be provided hereunder or as directed by the CITY, or (c) the bankruptcy or insolvency or a general assignment for the benefit of creditors by the CONTRACTOR or by any of the CONTRACTOR's principals, officers or directors, or (d) failure to obey laws, ordinances, regulations or other codes of conduct, or (e) failure to perform or abide by the terms or spirit of this Agreement, or (f) for any other just cause. The CITY may so terminate this Agreement, in whole or in part, by giving the CONTRACTOR at least 3 calendar days' written notice.
- 10.2. If, after notice of termination of this Agreement as provided for in paragraph 10.1 above, it is determined for any reason that the CONTRACTOR was not in default, or that its default was excusable, or that the CITY otherwise was not entitled to the remedy against the CONTRACTOR provided for in paragraph 10.1, then the notice of termination given pursuant to paragraph 10.1 shall be deemed to be the notice of termination provided for in paragraph 10.3 below and the CONTRACTOR's remedies against the CITY shall be the same as and limited to those afforded the CONTRACTOR under paragraph 10.3 below.
- 10.3. The CITY shall have the right to terminate this Agreement, in whole or in part, without cause upon 7 calendar day's written notice to the CONTRACTOR. In the event of such termination for convenience, the CONTRACTOR's recovery against the CITY shall be limited to that portion of the fee earned through the date of termination, together with any retainage withheld and any costs reasonably incurred by the CONTRACTOR that are directly attributable to the termination, but the CONTRACTOR shall not be entitled to any other or further recovery against the CITY, including, but not limited to, anticipated fees or profits on work not required to be performed.

#### ARTICLE ELEVEN CONFLICT OF INTEREST

11.1. The CONTRACTOR represents that it presently has no interest and shall acquire no interest, either direct or indirect, which would conflict in any manner with the performance of services required hereunder. The CONTRACTOR further represents that no persons having any such interest shall be employed to perform those services.

# ARTICLE TWELVE MODIFICATION

12.1. No modification or change in this Agreement shall be valid or binding upon the parties unless in writing and executed by the party or parties intended to be bound by it.

# ARTICLE THIRTEEN NOTICES AND ADDRESS OF RECORD

13.1. All notices required or made pursuant to this Agreement to be given by the CONTRACTOR to the CITY shall be in writing and shall be delivered by hand or by United States Postal Service Department, first class mail service, postage prepaid, return receipt requested, addressed to the following CITY's address of record:

City of Naples 735 Eighth Street South Naples, Florida 34102-3796

Attention: A. William Moss, City Manager

13.2. All notices required or made pursuant to this Agreement to be given by the CITY to the CONTRACTOR shall be made in writing and shall be delivered by hand or by the United States Postal Service Department, first class mail service, postage prepaid, return receipt requested, addressed to the following CONTRACTOR's address of record:

Quality Enterprises USA, Incorporated 3894 Mannix Drive, Suite 216 Naples, Florida 34114-5406 Attention: **Howard J. Murrell**, President

FEI/EIN Number: On File

13.3. Either party may change its address of record by written notice to the other party given in accordance with requirements of this Article.

### ARTICLE FOURTEEN MISCELLANEOUS

- 14.1. The CONTRACTOR, in representing the CITY, shall promote the best interest of the CITY and assume towards the CITY a duty of care commensurate with that which is imposed upon persons or firms in contractor's profession.
- 14.2. No modification, waiver, suspension or termination of the Agreement or of any terms thereof shall impair the rights or liabilities of either party.
- 14.3. This Agreement is not assignable, in whole or in part, by the CONTRACTOR without the prior written consent of the CITY.
- 14.4. Waiver by either party of a breach of any provision of this Agreement shall not be deemed to be a waiver of any other breach and shall not be construed to be a modification of the terms of this Agreement.
- 14.5. The headings of the Articles, Exhibits, Parts and Attachments as contained in this Agreement are for the purpose of convenience only and shall not be deemed to expand, limit or change the provisions in such Articles, Exhibits, Parts and Attachments.
- 14.6. This Agreement constitutes the entire agreement between the parties hereto and shall supersede, replace and nullify any and all prior agreements or understandings, written or oral, relating to the matter set forth herein, and any such prior agreements or understanding shall have no force or effect whatever on this Agreement.

- 14.7. The CONTRACTOR shall comply fully with all provisions of state and federal law, including without limitation all provisions of the Immigration Reform and Control Act of 1986 ("IRCA") as amended, as well as all related immigration laws, rules, and regulations pertaining to proper employee work authorization in the United States. The CONTRACTOR shall execute the Certification of Compliance with Immigration Laws, attached hereto as **EXHIBIT D.**
- 14.8 To the extent that any provision in the Specifications or any other Contract Documents pertaining to this Project conflict with any provision of this Agreement, this Agreement controls.
- 14.9 Dispute Resolution. Disputes under this Agreement shall be resolved through mutual consultation between the parties within 14 days after notice; and failing resolution through mutual consultation, through mediation within 30 days thereafter; and failing mediation, through Arbitration under the Florida Arbitration Code, by a single arbitrator. If the parties cannot agree on a mediator or arbitrator, within 14 days of failure of the previous method, they shall request the Chief Judge of the 20<sup>th</sup> Judicial Circuit to appoint a mediator, or an arbitrator, as the case may be. Time periods are waivable by mutual agreement of the parties, but shall not exceed 90 days for completion of the processes described herein, unless by mutual agreement. Costs of the mediator or arbitrator shall be shared equally.
- 14.10 Attorneys' fees. Except as otherwise provided herein, each party shall be responsible for its own attorneys' fees.

### ARTICLE FIFTEEN APPLICABLE LAW

15.1. Unless otherwise specified, this Agreement shall be governed by the laws, rules, and regulations of the State of Florida, and by the laws, rules and regulations of the United States when providing services funded by the United States government. Any suit or action brought by either party to this Agreement against the other party relating to or arising out of this Agreement must be brought in the appropriate Florida state court in Collier County, Florida.

#### **END OF ARTICLE PAGE**

IN WITNESS WHEREOF, the parties hereto have executed this Agreement for the day and year first written above.

| ATTEST:  | CITY:   |
|--|---|
| By: Approved as to form and legal sufficiency:  By: Robert D. Pritt, City Attorney | CITY OF NAPLES, FLORIDA, A Municipal Corporation  By:  A. William Moss, City Manager  |
| Marcie Cohen Witness Printed Name  | CONTRACTOR:  Quality Enterprises USA, Incorporated 3894 Mannix Drive, Suite 216 Naples, Florida 34114-5406 Attention: Howard J. Murrell, President  By:  Printed Name: Howard J. Murrell  Title: President  FEI/EIN Number: On File A Foreign Profit Corporation (VA) |
|  | (CORPORATE SEAL)  |

#### **EXHIBIT A**

#### SCOPE OF SERVICES

The General Scope of Services to be provided under this Agreement are included below in Exhibit A which is attached and made a part of this Agreement and those set out in the Bid, any Addendum(s) issued and Vendor's Submittal of (ITB) Invitation To Bid No.16-012, titled Central Avenue Improvements - Construction herein referenced and made a part of this Agreement.

The Central Avenue Improvement Project includes utility, stormwater, streetscape, street lighting, landscape and roadway improvements. Through this project, the City of Naples will provide a multimodal transportation facility that will serve residents, businesses and visitors well into the future. The project is expected to spur redevelopment along the corridor, while integrating design features intended to protect natural resources.

END OF EXHIBIT A

#### **EXHIBIT B**

### BASIS OF COMPENSATION

As consideration for providing the Services as set forth in the Agreement, the CITY agrees to pay, and the CONTRACTOR agrees to accept payment on a time and reimbursement cost basis as indicated in Attachment B-1 "Revised Bid Tab" which is attached and made a part of this Agreement.

Retainage of (10%) ten percent will be a part of said agreement and future payments.

END OF EXHIBIT B

### CENTRAL AVENUE IMPROVEMENTS WITH ROADWAY ALLOWANCE 2/18/16

| ITEM       | DESCRIPTION  | UNIT | QUANTITY | UNIT PRICE   | TOTAL PRIC   |
|------------|--|------|----------|--------------|--------------|
| Roadway    |  |      | -        |              |              |
| 0101 1     | MOBILIZATION                                       | LS   | 1        | \$400,000.00 | \$400,000.00 |
| 01021      | MAINTENANCE OF TRAFFIC                             | LS   | 1        | \$120,000.00 | \$120,000.00 |
| 0104 10 3  | SEDIMENT BARRIER                                   | LF   | 1885     | \$3.50       | \$6,597.50   |
| 0104 18    | INLET PROTECTION SYSTEM                            | EA   | 44       | \$115.00     | \$5,060.00   |
| 0110 1 1   | CLEARING & GRUBBING                                | AC   | 3.72     | \$27,000.00  | \$100,440.00 |
| 01104      | REMOVAL OF EXISTING CONCRETE PAVEMENT              | SY   | 2230     | \$15.00      | \$33,450.00  |
| 0120 1     | REGULAR EXCAVATION                                 | CY   | 3908     | \$30.70      | \$119,975.60 |
| 01206      | EMBANKMENT   | CY   | 813      | \$38.00      | \$30,894.00  |
| 0160 4     | TYPE B STABILIZATION                               | SY   | 7547     | \$6.30       | \$47,546.10  |
| 0162 1 11  | PREPARED SOIL LAYER, FINISH SOIL, 6"               | SY   | 533      | \$50.25      | \$26,783.25  |
| 0210 1 8   | REWORKING LIMEROCK BASE, 4"                        | SY   | 155      | \$13.50      | \$2,092.50   |
| 0285709    | OPTIONAL BASE,BASE GROUP 09                        | SY   | 5104     | \$49.20      | \$251,116.80 |
| 0327 70 5  | MILLING EXIST ASPH PAVT, 2" AVG DEPTH              | SY   | 11693    | \$2.75       | \$32,155.75  |
| 0334 1 12  | SUPERPAVE ASPHALTIC CONC, TRAFFIC B                | TN   | 1205.4   | \$160.80     | \$193,828.32 |
| 0334 1 12  | SUPERPAVE ASPHALTIC CONC, TRAFFIC B<br>(OVERBUILD) | TN   | 470.6    | \$168.00     | \$79,060.80  |
| 0337 7 42  | ASPH CONC FC, TRAFFIC B, FC-9.5, PG 76-22          | TN   | 929.2    | \$198.00     | \$183,981.60 |
| 0339 1     | MISC, ASPHALT PAVEMENT                             | TN   | 8.25     | \$342.00     | \$2,821.50   |
| 0425 1201  | INLETS, CURB, TYPE 9, <10                          | EA   | 2        | \$2,690.00   | \$5,380.00   |
| 0425 1203  | INLETS, CURB, TYPE 9, J BOT, <10                   | EA   | 1        | \$3,560.00   | \$3,560.00   |
| 0425 1331  | INLETS, CURB, TYPE P-3, <10                        | EA   | 2        | \$3,050.00   | \$6,100.00   |
| 0425 1341  | INLETS, CURB, TYPE P-4, <10                        | EA   | 7        | \$3,110.00   | \$21,770.00  |
| 0425 1351  | INLETS, CURB, TYPE P-5, <10                        | EA   | 7        | \$3,040.00   | \$21,280.00  |
| 0425 1361  | INLETS, CURB, TYPE P-6, <10                        | EA   | 7        | \$3,425.00   | \$23,975.00  |
| 0425 1362  | INLETS, CURB, TYPE P-6, >10                        | EA   | 1        | \$3,800.00   | \$3,800.00   |
| 0425 1441  | INLETS, CURB, TYPE J-4, <10                        | EA   | 1        | \$4,400.00   | \$4,400.00   |
| 0425 1451  | INLETS, CURB, TYPE J-5, <10                        | EA   | 1        | \$5,750.00   | \$5,750.00   |
| 0425 1461  | INLETS, CURB, TYPE J-6, <10                        | EA   | 1        | \$5,185.00   | \$5,185.00   |
| 0425 1521  | INLETS, DT BOT, TYPE C, <10'                       | EA   | 8        | \$1,750.00   | \$14,000.00  |
| 0425 1910  | INLETS, CLOSED FLUME                               | EA   | 6        | \$3,300.00   | \$19,800.00  |
| 0425 2 41  | MANHOLE, P-7, <10'                                 | EA   | 8        | \$3,550.00   |              |
|            |  | -    |          |              | \$28,400.00  |
| 0425 2 43  | MANHOLE, P-7, PARTIAL                              | EA   | 4        | \$3,715.00   | \$14,860.00  |
|            | MANHOLE, P-8 <10                                   | EA   | 1        | \$3,245.00   | \$3,245.00   |
| 0425 2 71  | MANHOLE, J-7, <10'                                 | EA   | 3        | \$5,460.00   | \$16,380.00  |
| 0425 2 73  | MANHOLE, J-7, PARTIAL                              | EA   | 1        | \$3,250.00   | \$3,250.00   |
| 0425 2 93  | MANHOLE, J-8, PARTIAL                              | EA   | 1        | \$4,855.00   | \$4,855.00   |
| 0430175118 | PIPE CULV, OPT. MATL, ROUND 18" S/CD               | LF   | 1791     | \$88.65      | \$158,772.15 |
| 0430175124 | PIPE CULV, OPT. MATL, ROUND 24" S/CD               | LF   | 220      | \$94.00      | \$20,680.00  |
| 0430175130 | PIPE CULV, OPT. MATL, ROUND, 30" S/CD              | LF   | 1026     | \$124.10     | \$127,326.60 |
| 0430175218 | PIPE CULV, OPT. MATL, OTHER 18" S/CD               | LF   | 398      | \$96.50      | \$38,407.00  |
| 0440 1 10  | UNDERDRAIN, TYPE I                                 | LF   | 591      | \$30.50      | \$18,025,50  |
| 0520 1 10  | CONCRETE CURB & GUTTER, TYPE F                     | LF   | 5915     | \$16.20      | \$95,823.00  |
| 0520 2 2   | CONCRETE CURB, TYPE B                              | LF   | 425.9    | \$12.30      | \$5,238.57   |
| 0520 2 4   | CONCRETE CURB, TYPE D                              | LF   | 4320     | \$12.30      | \$53,136.00  |
| 0520 2 8   | CONCRETE CURB, TYPE RA                             | LF   | 301.8    | \$22.15      | \$6,684.87   |
| 0522 1     | SIDEWALK CONC, 4" THICK                            | SY   | 3496     | \$27.00      | \$94,392.00  |
| 0522 2     | SIDEWALK CONC, 6" THICK                            | SY   | 176      | \$40.50      | \$7,128.00   |
| 0526 1 1-A | PAVERS, ARCHITECTURAL, TRUCK APRON                 | SY   | 250.2    | \$75.00      | \$18,765.00  |
| 0526 1 1-B | PAVERS, ARCHITECTURAL, SPLITTER ISLANDS            | SY   | 135      | \$90.00      | \$12,150.00  |
| 0526 1 1-C | PERVIOUS PAVERS, ARCHITECTURAL, PARKING            | SY   | 557      | \$90.00      | \$50,130.00  |
| 550 10 228 | FENCING, TYPE B, 5.1-6.0, RESET EXISTING           | LF   | 280      | \$15.20      | \$4,256.00   |
| 550 60 223 | FENCE GATE, TYPE B, DOUBLE, 12.1-18.0' OPENING     | EA   | 1        | \$2,340.00   | \$2,340.00   |
| 0527 2     | DETECTABLE WARNINGS                                | SF   | 328      | \$26.40      | \$8,659.20   |
| 0570 1 2   | PERFORMANCE TURF, SOD                              | SY   | 533      | \$5.75       | \$3,064.75   |
| BIO-S.     | BIOSWALES (WATER QUALITY SYSTEM)                   | EA   | 5        | \$10,000.00  | \$50,000.00  |

| 0523 1 3      | PATTERNED PAVEMENT, VEHICULAR AREAS, GREEN<br>BIKE LANE   | SY  | 744   | \$127.80    | \$95,083.2 |
|---------------|---|-----|-------|-------------|------------|
| 0700 1 11     | SINGLE POST SIGN, F&I, LESS THAN 12 SF  | AS  | 39    | \$438.00    | \$17,082.0 |
| 0700 1 50     | SINGLE POST SIGN, RELOCATE  | AS  | 3     | \$270.00    | \$810.00   |
| 0700 1 60     | SINGLE POST SIGN, REMOVE  | AS  | 1     | \$66.00     | \$66.00    |
| 0706 3        | RETRO-REFLECTIVE PAVEMENT MARKERS   | EA  | 142   | \$3.60      | \$511.20   |
| 0711 11123    | THERMOPLASTIC, STD, WHITE, SOLID, 12"   | LF  | 2026  | \$0.35      | \$709.10   |
| 0711 11124    | THERMOPLASTIC, STD, WHITE, SOLID, 18"   | LF  | 30    | \$4.50      | \$135.00   |
| 0711 11125    | THERMOPLASTIC, STD, WHITE, SOLID, 24"   | LF  | 2201  | \$6.00      | \$13,206.0 |
| 0711 11141    | THERMOPLASTIC, STD, WHITE, 2-4 DOTTED   | GM  | 0.769 | \$1,200.00  | \$922.80   |
| 0744 44400    | GUIDELINE / 6-10 DOTTED EXTENSION LINE, 6"  |     |       |             | Tely some  |
| 0711 11160    | THERMOPLASTIC, STD, WHITE, MESSAGE  | EA  | 8     | \$90.00     | \$720.00   |
| 0711 11170    | THERMOPLASTIC, STD, WHITE, ARROW  | EA  | 19    | \$66.00     | \$1,254.0  |
| 0711 11180    | THERMOPLASTIC, STD, WHITE, YIELD LINE   | LF  | 111   | \$7.20      | \$799.20   |
| 0711 11224    | THERMOPLASTIC, STD, YELLOW, SOLID, 18"  | LF_ | 149   | \$4.50      | \$670.50   |
| 0711 11241    | THERMOPLASTIC, STD, YELLOW, 2-4 DOTTED  | GM  | 0.129 | \$1,200.00  | \$154.80   |
| 0711 11421    | GUIDELINE / 6-10 DOTTED EXTENSION LINE, 6" THERMOPLASTIC, STD, BLUE, SOLID, 6"                      | LF  | 56    | \$2.40      | \$134,40   |
| 0711 14160    | THERMOPLASTIC, STD, BLUE, SOLID, 6  THERMOPLASTIC, PREFORMED, WHITE, MESSAGE                        | EA  |       | \$222.00    |            |
|               |   |     | 22    |             | \$4,884.0  |
| 0711 14170    | THERMOPLASTIC, PREFORMED, WHITE, ARROWS   | EA  | 21    | \$102.00    | \$2,142.0  |
| 0711 16101    | THERMOPLASTIC, STD-OTHER SURFACES, WHITE, SOLID, 6"   | GM  | 1.615 | \$4,200.00  | \$6,783.0  |
| 0711 16102    | THERMOPLASTIC, STD-OTHER SURFACES, WHITE, SOLID, 8"   | GM  | 0.047 | \$5,599.15  | \$263.16   |
| 0711 16131    | THERMOPLASTIC, STD-OTHER SURFACES, WHITE, SKIP, 6"  | GM  | 0.03  | \$1,050.00  | \$31.50    |
| 0711 16201    | THERMOPLASTIC, STD-OTHER SURFACES, YELLOW, SOLID, 6"  | GM  | 1.093 | \$4,200.00  | \$4,590.66 |
| 0711 16202    | THERMOPLASTIC, STD-OTHER SURFACES, YELLOW, SOLID, 8"  | GM  | 0.02  | \$5,599,20  | \$111.98   |
| Signalization | COLID, C  |     |       |             |            |
| 0630 2 11     | CONDUIT, F&I, OPEN TRENCH   | LF  | 530   | \$8.70      | \$4,611.00 |
| 0630 2 12     | CONDUIT, F&I, DIRECTIONAL BORE  | LF  | 555   | \$44.40     | \$24,642.0 |
| 0632 7 1      | SIGNAL CABLE, FURNISH & INSTALL   | PI  | 1     | \$7,080.00  | \$7,080.00 |
| 0635 2 11     | PULL & SPLICE BOX, F&I, 13"X24" COVER SIZE  | EA  | 14    | \$510.00    | \$7,140.00 |
|               | PRESTRESSED CONCRETE POLE, SHALLOW POLE   |     | -     |             | 1 - 1      |
| 0641 2 70     | REMOVAL, POLE 30' & GREATER   | EA  | 1     | \$1,770.00  | \$1,770.00 |
| 0646 1 11     | ALUMINUM SIGNALS POLE, PEDESTAL   | EA  | 4     | \$1,200.00  | \$4,800.00 |
| 0646 1 60     | ALUMINUM SIGNALS POLE, REMOVE   | EA  | 2     | \$360.00    | \$720.00   |
| 0649 31102    | MAST ARM, F&I, WIND SPEED-150, SINGLE ARM, W/0 LUMINAIRE - 46                                       | EA  | 1     | \$43,557.60 | \$43,557.6 |
| 0649 31108    | MAST ARM, F&I, WIND SPEED-150, SINGLE ARM, WITH LUMINAIRE - 60                                      | EA  | 1     | \$48,730.80 | \$48,730.8 |
| 0649 36300    | MAST ARM, REMOVE SHALLOW FOUNDATION, BOLT<br>ON ATTACHMENT  | EA  | 2     | \$2,400.00  | \$4,800.00 |
| 0650 1 14     | TRAFFIC SIGNAL, F&I, 3 SECTION, 1 WAY, ALUMINUM   | AS  | 6     | \$1,170.00  | \$7,020.00 |
| 0650 1 18     | TRAFFIC SIGNAL, F&I, 5 SECTION, T WAY, ALDIMINOM TRAFFIC SIGNAL, F&I, 5 SECTION STRAIGHT, 1 WAY, AL | AS  | 1     | \$1,800.00  | \$1,800.00 |
| 0650 1 70     | TRAFFIC SIGNAL, RELOCATE  | AS  | 2     | \$480.00    | \$960.00   |
| 0653 1 12     | PEDESTRIAN SIGNAL, F&I, LED COUNTDOWN, 2 WAYS   | AS  | 2     | \$1,260.00  | \$2,520.00 |
|               |   |     |       |             |            |
| 0660 1 101    | LOOP ASSEMBLY EST TYPE B  | EA  | 1 12  | \$302,40    | \$302.40   |
| 0660 2 102    | LOOP ASSEMBLY, F&I, TYPE B  | AS  | 12    | \$720.00    | \$8,640.00 |
| 0660 2 106    | LOOP ASSEMBLY, F&I, TYPE F  | AS  | 9     | \$1,080.00  | \$9,720.00 |
| 0665 1 11     | PEDESTRIAN DETECTOR, F&I, STANDARD  | EA  | 4     | \$234.00    | \$936.00   |
| 0670 5400     | TRAFFIC CONTROLLER ASSEMBLY, MODIFY   | AS  | 1     | \$3,000.00  | \$3,000.00 |
| 0682 1 400    | ITS CCTV CAMERA, RELOCATE   | EA  | 1     | \$3,120.00  | \$3,120.00 |
| 700 5 22      | INTERNALLY ILLUMINTATED SIGN, F&I, OVERHEAD   | EA  | 2     | \$3,474.00  | \$6,948.00 |

| Lighting     |  |    | -     |             |             |
|--------------|--|----|-------|-------------|-------------|
| 0630 2 11    | CONDUIT, F&I, OPEN TRENCH  | LF | 3525  | \$6,10      | \$21,502.50 |
| 0630 2 12    | CONDUIT, F&I, DIRECTIONAL BORE   | LF | 1505  | \$15.60     | \$23,478.00 |
| 0635 2 11    | PULL & SPLICE BOX, F&I, 13"X24" COVER SIZE                                       | EA | 42    | \$360.00    | \$15,120.00 |
| 0715 1 12    | LIGHTING CONDUCTORS, F&I, INSULATED, NO. 8-6                                     | LF | 19540 | \$1.30      | \$25,402.00 |
| 0715 1 13    | LIGHTING CONDUCTORS, F&I, INSULATED, NO. 4-2                                     | LF | 160   | \$3.70      | \$592.00    |
| 0715 1 60    | LIGHTING CONDUCTORS, REMOVE & DISPOSE,<br>CONTRACTOR OWNS                        | LF | 1395  | \$0.35      | \$488.25    |
| 0715 7 11    | LOAD CENTER, F&I SECONDARY VOLTAGE   | EA | 1     | \$11,760.00 | \$11,760.00 |
| 0715 11 118  | LUMINAIRE, F&I, ROADWAY, FLOOD   | EA | 4     | \$1,620.00  | \$6,480.00  |
| 0715-516-115 | LIGHT POLE COMPLETE-SPECIAL DESIGN, F&I, POLE TOP MOUNT, ALUMINUM, CUSTOM HEIGHT | EA | 31    | \$3,744.00  | \$116,064.0 |
| 0715-540-000 | LIGHT POLE COMPLETE-SPECIAL DESIGN, RELOCATE                                     | EA | 5     | \$2,040.00  | \$10,200.00 |
| 0715-550-000 | LIGHT POLE COMPLETE-SPECIAL DESIGN, REMOVE                                       | EA | 3     | \$840.00    | \$2,520.00  |
| Utilities    |  |    |       |             |             |
| 1050 11222   | 2-4.9" PVC Pipe (F&I) - PROPOSED 2" & 4"   | LF | 125   | \$34.60     | \$4,325.00  |
| 1050 11223   | 5-7.9" PVC Pipe (F&I) - PROPOSED 6"  | LF | 625   | \$64.70     | \$40,437.50 |
| 1050 11224   | 8-19.9" PVC Pipe (F&I) - PROPOSED 8", 12", 16", 18"                              | LF | 2010  | \$69.00     | \$138,690.0 |
| 1050 11424   | 8-19.9" DI PIPE (F&I) - PROPOSED 8"  | LF | 80    | \$75.85     | \$6,068.00  |
| 1050 11324   | 8-19.9" PE Pipe (F&I) - PROPOSED 10" (Directional Drill)                         | LF | 375   | \$125.00    | \$46,875.00 |
| 1050 18002   | 2-4.9" Plug & Out of Service - 2" & 4"   | LF | 1021  | \$11.00     | \$11,231.00 |
| 1050 18003   | 5-7.9" Plug & Out of Service - 6"  | LF | 1235  | \$12.50     | \$15,437.50 |
| 1050 18004   | 8-19.9"Plug & Out of Service - 16"   | LF | 120   | \$36.30     | \$4,356.00  |
| 1080 11207   | UTILITY FIXTURES, F&I, 2-4.9", LINE STOP   | EA | 1     | \$5,280.00  | \$5,280.00  |
| 1080 11307   | UTILITY FIXTURES, F&I, 5-7.9", LINE STOP   | EA | 4     | \$6,120.00  | \$24,480.00 |
| 1080 11407   | UTILITY FIXTURES, F&I, 8-19.9", LINE STOP  | EA | 3     | \$8,960.00  | \$26,880.00 |
| 1055 11414   | UTILITY FITTING,F&I,DI/CI,ELBOW, 8-19.9"   | EA | 65    | \$438.00    | \$28,470.00 |
| 1055 11424   | UTILITY FITTINGS, F&I, DI/CI, TEE, 8 - 19.9"                                     | EA | 17    | \$540.00    | \$9,180.00  |
| 1055 11454   | 8-19" UTILITY FITTINGS (F&I) PLUG/CAP  | EA | 2     | \$450.00    | \$900.00    |
| 1080 11404   | UTIL FIXT,F&I,8-19.9",VALVE ASSEMBLY   | EA | 32    | \$1,900.00  | \$60,800.00 |
| 1080 11409   | UTIL FIXT, F&I, 8-19.9", MECH JONT RESTR   | EA | 260   | \$112.80    | \$29,328.00 |
| 1644113 08   | FIRE HYDRANT,F&I,STD,2 HOSE,1PUMP,6"   | EA | 5     | \$4,220.00  | \$21,100.00 |
|              | Long Water Services  | EA | 8     | \$2,135.00  | \$17,080.00 |
| 7            | Short Water Services   | EA | 10    | \$1,260.00  | \$12,600.00 |

| Landscaping   |   |    |      |              |               |
|---------------|---|----|------|--------------|---------------|
| 751-38-11     | BENCH   | EA | 3    | \$1,600.00   | \$4,800.00    |
| SINGLE TRUNK  | PALMS - LARGE PLANTS  |    |      |              |               |
| 580-1-2       | ARCHONTOPHOENIX CUNNINGHAMIANA (PICCABEEN PALM)             | EA | 29   | \$427.20     | \$12,388.80   |
| 580-1-2       | ROYSTONEA REGIA (ROYAL PALM) - 2 moves                      | EA | 42   | \$2,136.00   | \$89,712.00   |
| 580-1-2       | ROYSTONEA REGIA (ROYAL PALM) - 1 moves                      | EA | 21   | \$1,068.00   | \$22,428.00   |
| 580-1-2       | ADONIDIA MERRILLII (CHRISTMAS PALM)                         | EA | 45   | \$513.60     | \$23,112.00   |
| TREES - LARGE | PLANS   |    |      |              |               |
| 580-1-2       | QUERCUS VIRGINIANA 'HIGH RISE' (HIGH RISE SOUTH             | EA | 17   | \$1,388.40   | \$23,602.80   |
| 580-1-2       | TAXODIUM DISTICHUM (BALD CYPRESS)                           | EA | 9    | \$416.40     | \$3,747.60    |
| SHRUBS - SMA  | LL AND LARGE PLANTS   |    |      |              |               |
| 580-1-2       | CHRYSOBALANUS ICACO 'RED TIP'(RED TIP<br>COCOPLUM)          | EA | 232  | \$38.40      | \$8,908.80    |
| 580-1-1       | DIANELLA TASMANICA 'VARIEGATA'(FLAX LILY)                   | EA | 675  | \$9.10       | \$6,142.50    |
| 580-1-1       | IXORA COCCINEA 'NORA GRANT' (RED IXORA)                     | EA | 692  | \$8.70       | \$6,020.40    |
| 580-1-1       | SCHEFFLERA ARBORICOLA 'TRINETTE' (VARIEGATED SCHEFFLERA)    | EA | 505  | \$8.70       | \$4,393.50    |
| 580-1-1       | DURANTA REPANS 'GOLD MOUND' (GOLDEN DEWDROP DURANTA)        | EA | 101  | \$8.75       | \$883.75      |
| 580-1-1       | FICUS MICROCARPA "GREEN ISLAND" (GREEN ISLAND FICUS)        | EA | 3019 | \$9.00       | \$27,171.00   |
| 580-1-1       | JUNIPERUS CHINENSIS "PARSONII" (CHINESE JUNIPER)            | EA | 488  | \$8.75       | \$4,270.00    |
| 580-1-1       | NEOREGELIA X 'ROYAL BURGANDY' (ROYAL<br>BURGANDY BROMELIAD) | EA | 186  | \$16.20      | \$3,013.20    |
| ANNUALS       |   |    |      |              |               |
| 580-1-1       | ANNUALS   | EA | 308  | \$4.20       | \$1,293.60    |
| ORNAMENTAL (  | GRASSES - SMALL PLANTS                                      |    |      |              |               |
| 580-1-1       | MUHLENBERGIA CAPILLARIS(PINK MUHLY)                         | EA | 503  | \$4.10       | \$2,062.30    |
| 580-1-1       | SPARTINA BAKERI(SAND CORD GRASS)                            | EA | 156  | \$4.10       | \$639.60      |
| SOIL AMENDME  | NTS   |    |      |              |               |
|               | BOLD & GOLD   | CY | 48   | \$451.20     | \$21,657.60   |
| Irrigation    |   |    |      |              |               |
| 0590 70       | IRRIGATION SYSTEM (maintenance done by the city)            | LS | 1    | \$189,400.00 | \$189,400.00  |
|               | SUBTOTA   |    |      |              | \$4,153,426.8 |
|               | 2.5% ALLOWANCE<br>ROADWAY ALLOWANCE                         |    |      |              |               |
|               |   |    |      |              |               |
|               | PROJECT TOTAL   |    |      |              | \$4,357,262.4 |

#### **EXHIBIT C**

#### GENERAL INSURANCE REQUIREMENTS

The Contractor shall not commence work until he has obtained all the insurance required under this heading, and until such insurance has been approved by the Owner, nor shall the Contractor allow any subcontractor to commence work until all similar insurance required of the subcontractor has also been obtained and approved by the Owner.

Certificates of insurance must be issued by an authorized representative of the insurance company at the request and direction of the policyholder and must include sufficient information so as to identify the coverage and the contract for Owner's improvements for which they are issued. Certificates of insurance must be issued by a nationally recognized insurance company with a Best's Rating of no less than B+VII, satisfactory to the Owner, and duly licensed to do business in the state of said Contract.

The Contractor shall procure and maintain, during the life of this Contract, Workmen's Compensation Insurance for all of his employees to be engaged in work under this Contract, and he shall require any subcontractor similarly to provide Workmen's Compensation Insurance for all of the latter's employees to be engaged in such work, unless such employees are covered by the protection afforded by the Contractor's insurance. In case any employees are to be engaged in hazardous work under this Contract, and are not protected under this Workmen's Compensation statute, the Contractor shall provide, and shall cause each subcontractor to provide, adequate coverage for the protection of such employees. It is acceptable to use a State-approved Workmen's Compensation Self-Insurance fund.

The Contractor shall take out and maintain during the life of this Contract, Public Liability and Property Damage and shall include Contractual Liability, Personal Injury, Libel, Slander, False Arrest, Malicious Prosecution, Wrongful Entry or Eviction, Broad Form Property Damage, Products, Completed Operations and XCU Coverage to be included on an occurrence basis, and to the full extent of the Contract to protect him, the Owner, and any subcontractor performing work covered by this Contract from damages for personal injury, including accidental death, as well as from claims for property damage, which may arise from operations under this contract, whether such operations be by himself or by a subcontractor, or by anyone directly or indirectly employed by either of them. The Contractor shall also maintain automobile liability insurance including "non-owned and hired" coverage. The entire cost of this insurance shall be borne by the Contractor.

The amount of such insurance shall be no less than \$1,000,000 annual aggregate for bodily injury and property damage combined per occurrence.

The City of Naples must be named as Additional Insured on the insurance certificate and the following must also be stated on the certificate. "These coverage's are primary to all other coverage's the City possesses for this contract only." The City of Naples shall be named as the Certificate Holder. The Certificate Holder shall read as follows:

The City of Naples 735 Eighth Street South Naples, Florida 34102

No City Division, Department, or individual name should appear on the Certificate.

No other format will be acceptable.

The Certificate must state the bid number and title.

When using the ACORD 25 - Certificate of Insurance only the most current version will be accepted.

The City of Naples requires a copy of a cancellation notice in the event the policy is cancelled. The City of Naples shall be expressly endorsed onto the policy as a cancellation notice recipient.

[If other insurance or insurance requirements or any waivers, attach as Exhibit C-1through C-\_\_]

#### EXHIBIT D

#### CERTIFICATION OF COMPLIANCE WITH IMMIGRATION LAWS

The undersigned is the **President of the Quality Enterprises USA, Incorporated** company ("the CONTRACTOR"), and hereby certifies to the following:

- 1. The CONTRACTOR is in full compliance with all provisions of the Immigration Reform and Control Act of 1986 ("IRCA"), as well as all related immigration laws, rules, regulations pertaining to proper employee work authorization in the United States.
- 2. The undersigned has verified that the CONTRACTOR has obtained and maintains on file, and will continue to obtain and maintain on file, all documentation required by law, including but not limited to, Form I-9, Employment Eligibility Verification, for all persons employed by or working for the CONTRACTOR in any capacity on any project for the City of Naples (CITY). All such persons have provided evidence of identity and eligibility to work to the CONTRACTOR in accordance with the IRCA and related law. The undersigned hereby affirms that no person has been or will be employed by the CONTRACTOR to work on projects for the CITY who is not authorized to work under law. The undersigned further affirms that the CONTRACTOR's files will be updated by written notice any time that additional employees work on projects for the CITY.
- 3. The CONTRACTOR will have its contractors, subcontractors, suppliers and vendors who are involved in projects for the CITY to sign a written acknowledgment that they too are in compliance with immigration law. It is understood that failure to do so could result in the CONTRACTOR being liable for any violation of the law by such third parties.
- 4. The CONTRACTOR will fully cooperate with and have its contractors, subcontractors, suppliers and vendors to fully cooperate with, all inquiries and investigations conducted by any governmental agency in connection with proper compliance with the laws pertaining to appropriate work authorization in the United States.
- The undersigned, on behalf of the CONTRACTOR, acknowledges that this Certification may be relied upon by the CITY, its officers, directors, employees, and affiliates or related persons and entities.
- 6. If it is found that the CONTRACTOR has not complied with the laws pertaining to proper employment authorization, and any legal and administrative action ensues against the CITY, the CONTRACTOR will indemnify, defend and hold the CITY harmless along with their officers, directors, employees, and affiliated or related persons and entities.
- 7. The CONTRACTOR acknowledges that the CITY by their authorized representatives shall have the right, at any time, upon 24 hours notice, to examine the CONTRACTOR's books and records to confirm that the CONTRACTOR is in compliance with the terms of this certification.

By: Howard J. Murrell, President